LY zelad] 2850 (1o cilad) 120 Jraxi o

almahah).Com

Q2

Lo Lia) slgall zramg Cigial] graxd Jac Gl sl (e Jguamll¥

https://almanahj.com/ae

Lie L) pasial] pie (o) Caall alge zuaxd Jac Glygl (de Jyall *
https://almanahj.com/ae/15

Lis i), Jgaid] guaxdy elijud sale (b paiial] i S Caadl Gl sl guax e Jgmamld *

https://almanahj.com/ae/15physics

Lis bl ) i) o dolsd) elyjud Bale (b paiial] e (Sl Coddl alge guaxd Jac Glygl e gl *
https://almanahj.com/ae/15physics3
L bazsl paiiadl jic o) Caall U Jguail] zra> (48 algall naz> S Jrasil *
https://almanahj.com/ae/grade15
Lo bao) iplali (de maliadl cog () chasill

https://t.me/almanahj_bot



https://almanahj.com/ae
https://almanahj.com/ae
https://almanahj.com/ae/15
https://almanahj.com/ae/15
https://almanahj.com/ae/15physics
https://almanahj.com/ae/15physics
https://almanahj.com/ae/15physics3
https://almanahj.com/ae/15physics3
https://almanahj.com/ae/grade15
https://almanahj.com/ae/grade15
https://t.me/almanahj_bot
https://t.me/almanahj_bot
http://www.tcpdf.org

Physics Iltem Sampler -
Advanced Track

adiia jluce — £l jall) Abia 3 gad

Welcome!

Welcome to an ltem Sampler!

This is a sample of EmMSAT questions.
This is NOT a real test form, nor does it
resemble a complete EmSAT Test. Test
scores cannot be projected based on
your performance on these items. The
purpose of this sampler is to familiarize
you with the general content of the
exam.

Your real test will be longer in length,
depending on the subject area

(English, Math, Physics). *
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Friction p Friction
10N 50N

The figure shows a block that 1s being pulled = A L e pSei S N
along the floor. According to the figure, what WJEAl B i gladl e alde Yl ;_.....q ;.h.....
is the acceleration of the block? $aciall o Pl
B [ 7
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5
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33
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A communication satellite is in a circular orbit
around Earth.

If the speed of the satellite is constant, the force
acting on the satellite

Ja _FJE'IJ e vj e olla et Al _J‘..e.!
o=

.14 nak T ki G an 5
etk \F.'l.‘.-u..all _)ASE'I s Sl |

Sl o § il B gl

A . ~,

| is zero. e s |

M "y

B . ™y

| is decreasing. o |

h. A

C. [ ints in the direction that th A
points in the direction that the el il GE a slatls
satellite is moving. ol - el O

. "y

D. [~ L . o)
points toward the center of Earth at ea Pyl S eelaib oS
all times. o

. vy

A\

A 70-kilogram skier leaves a skijump ata
velocity of 14 M/s.

What is the skier's momentum at that instant?

;Fﬂ.-:_!.""v 1&%‘:“&51?{]!(?'%?;&

1A m/s g5 Rl jasie

Pataall) olli die =l jiall a3 Jl) ke L

i | SONes
B. | 3,800 N * s
G | Shes
D.

|"'- 980 N es




* Where does visible light fall on the 8 lline g el ciuhall 4 S palf ¢ gaiall aBga
electromagnetic spectrum?

between x-rays and gamma rays ke dalil g dsiedl Al oy |
B' % N - o T WA e .
between short-wave radio and s 52 et da Y] Dla e
television O ALl
c G dadil gl peall il Aal¥l
between infrared and uliraviolet '.!. i)
. St Al g i g Saal) Uil g
between microwaves and infrared S i
el ].na.h
o
C.

A 5-Kilogram mass is lifted form the ground toa . 10m E@_Jl S h,.aj;'l & Skg 5.55,;....:. @J Al
height of 10 meters.

The gravitational potential energy of the mass is " ——— wFi gt puaall 4zt C‘"a’l e
increased by approximately
. ™
A 50 |
p. vy
¢ ™
| 250 |
h. vy
¢ ™
~ 05 |
M vy
¢ ™
o 500 |
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What is the current through the 2 (2 resistor? 02 () el dagie B yar ) Lall ded e
P 202 60
10V

A )

| 8.0A |

M vy

E ™

| 0.2A |

p. vy

c. ( )

| 50A |

. vy

D. [ h

| 0.8A |

M vy

\‘ )
o
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Extremely high temperatures are needed for e gy ealll els g
fusion efficiently. ekl e
What state of matter is mest common at there da ) Gl die Lo gul SYY AL ) Balad) Alla L
temperatures? LEPER]

A . )

| gas Ly

p. vy

B. ( . )

| liquid il |

h. vy

c. [ h

| plasma LSl

h. vy

D . ™

| solid “dall |
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An object moves away from a motion detector
with a constant speed.

Which graph best represents the motion of the
object?

A B

distance dal.l!

time a3l

distance d5L.Li

time a3l
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4305 50 s 4555 € a8 S Y
A soccer player kicks a 0 5-kilogram 054 0.5 kg S s S e JSJ
stationary ball with a force of 50 newtons. SON L .

What is the force on the player's foot? T F-‘E e b il Eu,'ih )|..‘l§.a ,“

A -
| 100 N |
A "y
B ([ .
| 25N |
\. J
c. [ R
| ON |
\. J
D. [ ™
| 50 N |

-
b

10 - C)O‘

A sound wave traveling through a solid material 2 m #Jﬂll Llgh s 500 Hz @ f Gpa 4;._5.;
has a frequency of 500 hertiz. The wavelength of

abion ki Tl 18555
the sound wave is 2 meters. ol b Ba s
What is the speed of sound in the material? oalll 028 3 & guall de e 2 L
\ 250 m/s I
\ 1,000 M/ I
\ 250,000 M/s I
D.

\ 500 M/s I
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12.

Two oppositely charged particles are held in lans (e o Bl AR il U et e ._‘,
place near each other. Lo
;I._-::'hlen the particles are released, they will most _ g ;::a-j:’l o 4id lewall poat dis
kely . _—
A ) ] “\
‘ rotate in a counterclockwise direction doldl o slie S sladly 1) e |
h "
B. [ : : -
‘ rotate in a clockwise direction dolldl o e aladly o) el |
h "
c. [ ™\
‘ accelerate toward each other Laguiany oladly Sl jludy |
. vy
D. [ ™
‘ accelerate away from each other Legiian: ‘o pamiie e gLl |

-
e

S
o

«

U;'a“,"l Lt 3Dk "‘!"':'.‘...pﬂ'l_.-' ..J"‘
A 2 5-kilogram brick falls to the ground from a 3- Hee d )ﬂ }h )
meter high roof. Amasl et e e

What is the approximate kinetic energy of the
brick just before it touches the ground?
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|

O U et g giall A8 ) Bl e L 5 8 e

?_’u'a_;:‘flﬁ:u
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13.

The diagram shows a 2-kilegram box colliding
with and sficking to a second box.

Before collision sslahl 1§

3m/s

I B

Gy adhua D kg 4K giua ol au ) elad
Ao galls A

After collision pslaz!l e

1m/s

VWhat is the mass of the second box 7

£ AU (3 saiall AT a L

A
l 4kg
B. (
| Bkg
%
C.
l 9kg
%
. i
| 8 kg

-\
14.

Three objects move with a velocity of 1 M/s.

What is the total kinefic energy of the system?

1m/5u)_._-.ai):.i-?mid:ﬂ

Saliall AN A o) A8l jale aly oS

A 2) )
A 'y
> ( 5 )
M vy
“( o) )
M vy
> ( 1) )
kN vy




15.
Objects appear different is size and shape

e g f adlia, J\S.:I 3 Ia'._‘:h:hL ra'....qu"f\ g

in a container of water due fo e slalls & glas

A [ . N
| diffraction of the light waves 4 paall i gall S |
S /
B () rf fth d ligh N
interference of the water and light 1l e el Cila e e o LA ‘

‘ waves egpallge ol oV
A vy
c. [ . 0
| polarization of light waves A guiall i gall Slaging |
A vy
D. [ R
| refraction of light waves ¢ gaall i ge oS |
A iy

16.

A S-volt battery is connected to a light bulb with a

resistance of 3 (7.

What is the current in the circuit?

Q

sie e Fl S rloan N OV A e a8

v

30

% il &l dod L

A ™
| 0.3A \
. Y,
E 7 ™y
| 30A \
AN vy
C I T
| 270A \
M A
D ™
| 10A \
. Y,




17.
A student holds a book at rest in an outstretched o35 o 2 g 582 pradion AU Jeay s

hand.The force exerted on the book by the § g Ll (J8 e SN o AL bl B gal)
student is equal to the book's ]

A —

‘ mass. Al |

M A

B ™

. density. A |

M "y

c. [ ™

‘ volume. A |

. ey

D. [ ™

| weight. NSTH

-
M
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18.
A metal bar magnet has a magnetic field in the 3 g e g \Fu_a..um a4 g 22 g parhaliag
region around it. The magnetic field is due to . o mukalial Jaal) (s
A h

an electric current that runs along the Ll 8 s e 2l ol ‘
‘ length of the magnet j gl e

p. ey
B ( h ion of charged particles in th )
the motion of charged parficles in the - UL T P
p. y
c. [ . )
| a hidden voltage source in the metal P D e ‘
p. y
D. ( 2 h
| radio active particles in the metal el A dade Clesa |

-
M




19.

How much power is dissipated by the resistor in

the circuit below 7

A
|\
B
|\
c
|x
D
|\

A il i e Algidd) ARLRI) a8

€ aliaf § Sl A
100V — R, = 200 ohms
-
25W \
ey
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50 W \
/
™
100 W \
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800 W \
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20.
A ball on a rope swings around S JEl e i g o Bding e S
a vertical pole. BERY s Jes

In which direction will the ball fly if released Ol Al 38 ; 131 5 <l Aatic slat) gf 3
at the location shown? 93| Joul)
A

( y |

B. [ % ]
c. ™

L z )
D. [ i "\|
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|._u.5 m_.|

250¢g 150 g
What event will produce the greatest increase in S S e = Cagu Al e
the gravitational force between the two masses? Calle IS ?j Ol e ) B
a i — —
| reducing the small mass by half il ) puallaliglf Qs |
W A
B. [ ! I
| doubling the large mass SV AL disliae |
G (" doliblinghed be he - )
oubling the distance between t bl i Rl Gde .
masses ' e
\‘- a
D . ; )
reducing the distance between the pall ey Al oy Al Julks
masses by half ' ' '
22, . .
In collisions between two objects, kinetic energy AS pall allall 8 e O pladas Ada 2
is conserved only ) , Shsalag ehe
A. (f 1 - -’S__. ;‘l " ‘kr ¥ -ES_] F -\
: : G2 oS dds Saleadl o s
‘ if one of the object was initially at rest sl
p. vy
B ™
| inelastic collisions o) adeadll |
. "
c. [ . . N
‘ g rf:;tge;hal energy converts to work Jat o il I s ‘
p. vy
D ™
| ininelastic collisions ol e adlalll |




23.

A sound wave is produced in a metal cylinder by

striking ocne end.

Which of the following cccurs as the wave travels

along the cylinder?
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vy Ty Ty
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5 sl Jsb
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Its amplitude increases. S gl da 2 |
vy

) N

It transfers matter. Sl i |
vy

™

Its frequency increases. ol all 22 43 |
vy

- E 1\.

It transfers energy. AdUal |
vy
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A student in a lab experiment jumps upward
off a common bathroom scale as the lab
partner records the scale reading.

e e
Blidda ash jull dlial s g S 405
L et el B

5 I

1

What does the lab pariner cbserve during
the instant the student pushes off?

A

2
L iRy AN Al b ) o AdaaSin 20
TS O ) e Ll

The scale reading will increase
during the entire time the student is in
contact with the scale.

S gty _;:JL; S el 3ol @ als i
O el i Lsae llall L oSy

The scale reading will decrease
moementarily then will increase as the
student is moving upward from the
scale.

Al day o 8 Laad ) el e § il
sl S dlall S8 ) daal 8 S YL

The scale reading will increase
momentarily then will decrease as
the student is moving upward from
the scale.

Gl say (8 8 Ldaad o uall Bel 8 210 Y
(oSl Ul e ) ddaad 4§ alia il

The scale reading will remain
unchanged during the entire time the
student is in contact with the scale.

Bl (A 8 LS ol el et 8 Al
e el Ll e s
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The diagram below show current O PP ¥ g S X W VS -
flow through a wire. s FELT
() «—CURRENT FLOW
Which of the following represents the o) Junell doghad (Jay L Les g
magnetic field resulting from the current? fulldl 3l g e e

i 7
=
B_ I 4
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e !
l.__ ']
D_ I’r \1
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Number
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